
Puzzle  by John de Cuevas  solved 
 
"Hexagony" 

P M   D S   C C   S U 
E   I I   O O   Y Y   N 
T L   D R   C X   R D 

N T   L D   R C   X R   D Y 
E   A A   E E   E E   E E   A 
S B   T N   I P   L F   F R 

N S   B T   N I   P L   F F   R C 
A   U U   E E   M M   E E   O O   A 
T L   D G   E R   E T   N D   D N 

S T   L D   G E   R E   T N   D D   N I 
E   H A A A E E R I I V S S A A A R E E D Z
V R   C R   T N   T A   E P   L B   N E 

R E   R T   N T   A E   P L   B N 
A   A A   E E   C C   L L   U U   E 
E N   Y B   M E   H B   A R   R D 

N Y   B M   E H   B A   R R 
A   E E   L L   E E   A A   Y 
M O   C A   K C   O M   U R 

O C   A K   C O   M U 
L   R R   E E   E E   Z 
L A   A T   C R   L Z 

 
 

HARVARD PUZZLE 

 
1. LIMPET 
2. SORDID 
3. COCCYX 
4. SUNDRY 
5. ABSENT 
6. DENTAL 
7. PIERCE 
8. REFLEX 
9. DEFRAY 
10. SULTAN 
11. BUDGET 
12. ERMINE 
13. TEMPLE 
14. OFFEND 
15. CANDOR 
16. ARCANE 
17. BETRAY 
18. CEMENT 
19. BLEACH 

20. PLURAL 
21. BURDEN 
22. YEOMAN 
23. BECALM 
24. HECKLE 
25. AMOEBA 
26. QUARRY 
27. COLLAR 
28. KARATE 
29. COERCE 
30. MUZZLE 
 
BLADDER 
DENIZEN 
INTEGER 
ANAPEST 
VERITAS 
HARVEST 
CALDERA 

 
 


